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QUESTION 1

Which of the following is amongst the five marketing actions an organisation should take when greening their brand? 

a.

 Be accountable. 

b.

 Be transparent. 

c.

 Be credible. 

d.

 Be an enabler. 

A. 

a, and d. 

B. 

a and b. 

C. 

b, c and d. 

D. 

a, b, c and d. 

Correct Answer: D 

 

QUESTION 2

What is the benefit of creating virtual servers? 

A. To increase the number of PCs connected to the server. 

B. To reduce the power needed to run the server. 

C. To permit the server to power down when not in use. 

D. To allow better use of the server capacity.To allow better use of the server? capacity. 

Correct Answer: D 

 

Latest BH0-008 Dumps | BH0-008 Exam Questions | BH0-008 Braindumps                                2 / 8

https://www.pass2lead.com/bh0-008.html
https://www.pass2lead.com/bh0-008.html
https://www.pass2lead.com/bh0-008.html


https://www.pass2lead.com/bh0-008.html
2023 Latest pass2lead BH0-008 PDF and VCE dumps Download

QUESTION 3

Which of the following is the best definition of cap and trade? 

A. Companies can trade emissions within an agreed limit. 

B. Companies can trade emissions within agreed timescales. 

C. Companies can trade emissions with an agreed price. 

D. Companies can trade emissions within a single region. 

Correct Answer: A 

 

QUESTION 4

Which of the following is not part of a green IT programme? 

A. Stock management. 

B. Demand management. 

C. Capacity management. 

D. Availability management. 

Correct Answer: A 

 

QUESTION 5

Which of the following is a stakeholder in a Green IT programme? 

a. 

Government organisations. 

b. 

Suppliers. 

c. 

Company shareholders. 

d. 

Employees. 

e. 

Religious organisations. 

A. 
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a, c, and e. 

B. 

a, b and c. 

C. 

a, b c, and e. 

D. 

a, b, c and d. 

Correct Answer: D 

 

QUESTION 6

What is a key factor driving Green IT? 

A. Customer satisfaction. 

B. Technical opportunity. 

C. Social pressure. 

D. Legislative compliance. 

Correct Answer: D 

 

QUESTION 7

Which of the following are business benefits of replacing paper-based work processes? 

a.

 The ability to access electronic documents quickly. 

b.

 The ability to view documents at home and the office. 

c.

 The ability to reduce the amount of storage space. 

d.

 The ability to decrease the time spent in meetings. 

A. 

c and d. 
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B. 

a, b and c. 

C. 

b, c and d. 

D. 

a and d. 

Correct Answer: B 

 

QUESTION 8

Which of the following systems would assist effective Green IT procurement? 

A. A Decision Support Database. 

B. An Enterprise Resource Planning System. 

C. A Transaction Processing System. 

D. A Supplier and Contracts Database. 

Correct Answer: D 

 

QUESTION 9

How can you ensure all stakeholders are informed about the process of your Green IT programme? 

A. Develop a Risk Management Strategy. 

B. Create a Communications Plan. 

C. Produce a Stakeholder Competency Assessment. 

D. Maintain a Stakeholder Map. 

Correct Answer: B 

 

QUESTION 10

Which of the following is a financial benefit of adopting green IT within an organisation? 

A. Reduced recruitment fees. 

B. Reduced electricity bills. 

C. Reduced employee wages. 
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D. Reduced marketing spend. 

Correct Answer: B 

 

QUESTION 11

You are calculating the payback for a Green IT programme. Which of the following should be included in the
calculation? 

a.

 Staffing costs. 

b.

 Programme costs. 

c.

 Electricity costs. 

d.

 Travel costs. 

A. 

a and b. 

B. 

b, c and d. 

C. 

a and d. 

D. 

a, b, c and d. 

Correct Answer: B 

 

QUESTION 12

Which of the following best describes the goal of capacity management? 

A. The process of ensuring IT services meet user demand. 

B. The process of ensuring the optimum use of data storage. 

C. The process of ensuring the availability of new systems. 
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D. The process of ensuring data is available on demand. 

Correct Answer: A 

 

QUESTION 13

In which units are the results of a Carbon Footprint Calculation displayed? 

A. Tonnes. 

B. Kilowatts. 

C. Dollars. 

D. Litres. 

Correct Answer: A 

 

QUESTION 14

Which of the following activities should be addressed by a Green IT Action Plan? 

a.

 Optimising the infrastructure. 

b.

 Managing the environment. 

c.

 Steering the organisation. 

d.

 Improving the workflow. 

A. 

a, b and c. 

B. 

a, b and d. 

C. 

a and c. 

D. 

b, c and d. 
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Correct Answer: B 

 

QUESTION 15

How can adopting Green IT principles benefit an organisation reputation? 

A. It demonstrates the organisation competitiveness to government.It demonstrates the organisation? competitiveness
to government. 

B. It demonstrates the organisation aspirations to customers.It demonstrates the organisation? aspirations to
customers. 

C. It demonstrates the organisation buying needs to suppliers.It demonstrates the organisation? buying needs to
suppliers. 

D. It demonstrates the organisation commitment to charity.It demonstrates the organisation? commitment to charity. 

Correct Answer: B 
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